| =R (AS) |

mALERLA

L
]
o= -
£
o| e
Bl B
=ISS

FoRY TR FaFYLY
P F—4Y 7B
T U1
J_ HA
| B, 1

it/ SPETT

2 upu u\f e b

P

Tl X A MOmE Pe PHUITFHM MR L 3. 2 O

A F@OBEEEIZE D - 20206 + 0% O TH I TS,

fZE bV 7 Mt 5 LA F A MFIE Pax 7 12000 A% RRFZF IR

2D EME LTI S/ it

B SoE o EERVY | X7 A MR | e A A M i AHE o b Hoa
[ g n Mt Pax P P s e
MExsE| | L | 2 | Lt , j , | A8 4% Ma

mm N-m kegf-ml kKN | {kegfl | MPa |kefimmii| MPa |[kefimm| N-m kegf-ml| kg

PLO1O X047 AS | 20 | 18 | 26 | 294 30| 304 3100 241 | 246 | 98 | 100 | & |Méx18 183 187 020
PLO20 X047 AS | 20 | 18 | 26 @ 304 31| 304, 3100 229 | 234 | 98 | 100 | 6 |Méx18 183 187 020
PLO22XO047AS | 20 | 18 | 26 @ 333 34| 304, 3100 209 | 213 | 98 | 100 | & |Méxig 183! 187 0.19
PLO24 X050 AS | 20 | 18 | 26 @ 461, 47| 382, 3900| 241 | 246 | 116 | 118 | 8 |mMéx18 183! 1.87 | 022
PLO25 X050 AS | 20 | 18 | 26 4800 49| 382 3900 231 | 236 | 116 | 11.8 8 | M&x18 | 183! 1.87 | 022
PLO28 XO55AS | 20 | 18 | 26 | 539 55| 382, 3900| 207 | 211 | 106 | 108 | 8 |Méx18 183 1.87| 025
PLO30XO55AS | 20 | 18 | 26 | 578 59 382, 3900 193 | 197 | 106 | 108 | 8 |Méx18 183 187 024
PLO32XO060AS | 20 | 18 | 26 @ 784 80| 490, 5000 228 | 233 | 123 | 125 | 10 |Méx18 183 187 | 027
PLO35 XO060AS | 20 | 18 | 26 @ 862 88| 490 5000 209 | 213 | 123 | 125 | 10 |mMéx18 183 187 027
PLO38 XO065AS | 20 | 18 | 26 | 1029' 105| 539, 5500| 212 | 216 | 123 | 126 | 11 |mMéx18 183! 1.87| 030
PLO40 X 065 AS | 20 | 18 | 26 | 1088 111| 539, 5500| 201 | 205 | 123 | 126 | 11 |méx18 | 183 | 1.87 | 030
PLO42XO75AS | 24 | 21 | 32 | 17200 175 813, 8300| 247 | 252 | 138 | 14.1 9 | M8x22| 402 410| 051
PLO45 X075 AS | 24 | 21 | 32 | 1840 188| 81.3. 8300| 230 | 235 | 138 | 141 9 | M8x22 | 402! 410 0.5
PLO48 X080 AS | 24 | 21 | 32 1960 200 81.3. 8300 217 | 221 | 130 | 133 | 9 |M8x22 402! 410 055
PLOSO X080 AS | 24 | 21 | 32 @ 2050 209 813 8300 208 | 212 | 130 | 133 | 9 |M8x22 402 410 055
PLOS5 X 085 AS | 24 | 21 | 32 | 2750' 281| 100 . 10200| 230 | 235 | 149 | 152 | 11 | M8x22 | 402 & 410| 060
PLO60 X090 AS | 24 | 21 | 32 | 3000 306| 100 | 10200| 212 | 21.6 | 141 | 144 | 11 |M8x22 402! 410 0.64
PLO65 X095 AS | 24 | 21 | 32 | 3550' 362 108.8| 11100| 213 | 217 | 146 | 149 | 12 | M8x22 402 410 049
PLO7OX 110AS | 28 | 25 | 38 | 5490 560| 159 | 16200| 241 | 246 | 154 | 157 | 11 |Mi0x25 813! 830| 1.21
PLO75 X 115AS | 28 | 25 | 38 | 5880! 600| 159 | 16200| 225 | 230 | 147 | 150 | 11 |Mi0x25 813! 830 127
PLOBO X 120 AS | 28 | 25 | 38 | 6270, 640| 159 . 16200 212 | 216 | 141 | 144 | 11 |MI0x25 813 830 133
PLOS5 X 125AS | 28 | 25 | 38 | 7350' 750 173 | 17700| 217 | 221 | 148 | 151 | 12 |M10x25 813 830 1.1
PLO9OX 130AS | 28 | 25 | 38 | 7740, 790| 173 | 17700| 205 | 209 | 142 | 145 | 12 |M10x25 813 830 147
PLO95 X 135AS | 28 | 25 | 38 8920 910| 187 . 19100| 211 | 215 | 148 | 151 | 13 |Mi0x25 813 830 1.54
PLI0OOX 145AS | 33 | 29 | 45 | 11560! 1180| 231 | 23600| 213 | 21.7 | 147 | 150 | 11 |M12x30 142 145 | 209
PLI10X 155 AS | 33 | 29 | 45 | 12600! 1290| 231 | 23600| 193 | 197 | 137 | 140 | 11 |M12x30 142 145 | 225
PL120X 165AS | 33 | 29 | 45 | 15100 1540| 252 | 25700| 193 | 197 | 140 | 143 | 12 |M12x30 142 145 | 242
PL130X 180 AS | 38 | 34 | 50 | 20500! 2090| 316 | 32200 190 | 19.4 | 137 | 140 | 15 |M12x35 142 145 | 338
PL140X 190 AS | 38 | 34 | 50 | 23500' 2400| 336 . 34300 188 | 192 | 139 | 142 | 16 |M12x35 142 145 | 3.59
PL150X 200 AS | 38 | 34 | 50 | 28300 2890| 378 . 38600 198 | 202 | 148 | 151 | 18 |M12x35 142 145 | 3.82
PL160 X 210 AS | 38 | 34 | 50 | 31900! 3260| 400 . 40800 196 | 200 | 149 | 152 | 19 |M12x35 142 145 | 403
PL170 X 225 AS | 44 | 40 | 58 | 39200) 4000| 462 .| 47100 180 | 18.4 | 136 | 13.9 | 16 |M14x40 225 230 | 549
PL180X 235 AS | 44 | 40 | 58 | 44100) 4500 491 | 50100 181 | 185 | 139 | 142 | 17 |M14x40 225 230 | 578
PL190 X 250 AS | 52 | 48 | 66 | 54900! 5600 577 | 58900 169 | 17.2 | 128 | 13.1 | 20 |Mi4x45 225 230 | 7.89
PL200 X 260 AS | 52 | 48 | 66 | 60600 4180 606 | 61800 169 | 172 | 1290 | 132 | 21 |Mi4x45 225 1230 | 826
PL220 X 285 AS | 56 | 51 | 72 | 795000 8110 722 | 73700 172 | 17.5 | 132 | 135 | 18 |M16x50 348 355 | 106
PL240 X 305 AS | 56 | 51 | 72 | 96300 9830| 803 . 81900 174 | 17.8 | 137 | 140 | 20 |M16x50 348 355 | 11.5
PL260 X 325 AS | 56 | 51 | 72 |120000/12200| 923 | 94200| 185 | 189 | 148 | 151 | 23 |M16x50 348 355 | 124
PL280 X 355 AS | 66 | 61 | 84 |148000/15100 1062 (108400 166 | 169 | 130 | 133 | 22 |MI8x60 475 485 | 187
PL300 X 375AS | 66 | 61 | 84 |173000017700 1160 (118000 169 | 17.2 | 135 | 138 | 24 |MI8x60 475 485 | 19.9

)

RFEEERSSTT .
[Mt], [(Pax]:

Pz [Mt] EAF A MTELD0 OB, 7950
Py b 25 A FAFED R IR 285G el st L, FEOEE v sl LRl

AU iR A & O A (SR L Ao T,

i
@ 300 LLLo®iEY 4 AL RELTT 0T,

AZ A MGE (Pax] &M

;ﬁ{
B,

BT TIMHS LS e
31

DEGEOMERLTWET,
T




